
8 cm

24 cm

5 cm

ℎ = 3 𝑐𝑚

𝐴 = 𝑙 × 𝑤

𝐴 =
(8)(12.369)

2
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯

𝐴 = 49.476 𝑐𝑚ଶ

𝐴 =
(24)(5)

2
⎯⎯⎯⎯⎯⎯⎯

𝐴 = 60 𝑐𝑚ଶ𝑆𝐴 =60+60+49.5+49.5+192
𝑆𝐴 = 411 𝑐𝑚ଶ

Rectangular Based Pyramid Surface Area and Volume
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𝑏ℎ
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⎯⎯⎯
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𝑐
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Pythagoras (Same as Above)
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If Corner Height 
See page before

𝑎ଶ + 𝑏ଶ = 𝑐ଶ

𝑎ଶ + 4ଶ = 5ଶ

𝑎ଶ + 16 = 25
       −16     − 16
           𝑎ଶ = 9

             𝑎 = √9
⎯⎯ 

            𝑎 = 3

𝑎ଶ + 𝑏ଶ = 𝑐ଶ

3ଶ + 12ଶ = 𝑐ଶ

9 + 144 = 𝑐ଶ

153 = 𝑐ଶ

√153
⎯⎯⎯ 

= 𝑐

𝑐 = √153
⎯⎯⎯ 

= 12.369

12.369

12.369

12.369

5

6060

49.5

49.5

𝑉 =
1

3
⎯⎯× (𝑎𝑟𝑒𝑎 𝑜𝑓 𝑏𝑎𝑠𝑒) × ℎ

𝑉 =
1

3
⎯⎯× (𝑙 × 𝑤) × ℎ

𝑉 =
1

3
⎯⎯× 8 × 24 × 3

𝑉 = 192 𝑐𝑚ଷ
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